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(56) (IIj Because the Earth rotates once per day, the effective
acceleration of gravity at the equator is slightly less than it
would be if the Earth didn’t rotate. Estimate the magnitude

of this effect. What fraction of gis this?
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(}) (I1) An airplane 1s heading due south at a speed of 550 km/h.
If a wind begins blowing from the southwest at a speed of
W="90.0km/h (average), calculate: (a) the velocity (magnitude ° 7 ‘
. and direction) of the plane, relative to the ground, and o) ‘
e - (b) how far off course it will be after 12.0min if the pilot AT
takes no corrective action. [Hint:] First draw a diagram.] - é \
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